



Problems based on auto correlation function of cross correlation function of propert and output J. A coss process x(t) with $R_{xx}(T) = Ae^{-a|T|}$ where A' and A' are seal the constants is applied to the I/P of an LTI Systems with $h(t) = e^{-bt}$ with where B is a seal the constant. Find the P(x) of the P(x) of the System P(x)

Corver
$$B_{XX}(T) = Ae^{-a|T|}$$
and $h(t) = e^{-bt} u(t)$

FT of $h(t)$: $H(w) = F[h(t)] = \int_{-\infty}^{\infty} h(t) e^{-iwt} dt$

$$= \int_{-\infty}^{\infty} e^{-bt} u(t) e^{-iwt} dt$$





$$= \int_{e}^{\infty} -(b+i\omega)t dt$$

$$= \left[\frac{e^{-(b+i\omega)t}}{-(b+i\omega)} \right]^{\infty}$$

$$= \frac{-1}{b+i\omega} (o-1)$$

$$= \frac{1}{b+i\omega}$$

The Propert Power Spectral density \$6
$$S_{XX}(\omega) = \int_{-\infty}^{\infty} R (t) e^{-i\omega t} dt$$

$$= \int_{-\infty}^{\infty} A e^{-\alpha |T|} (\cos \omega t - i SP n \omega t) dt$$

$$= A \int_{-\infty}^{\infty} e^{-\alpha |T|} \cos \omega t dt - i A \int_{-\infty}^{\infty} e^{-\alpha |T|} SP n \omega t dt$$

$$= 2A \int_{0}^{\infty} e^{-\alpha t} \cos \omega t dt + i (0)$$

$$= 2A \frac{a}{a^2 + \omega^2}$$

$$S_{XX}(\omega) = \frac{2aA}{a^2 + \omega^2}$$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution) Coimbatore – 641 035



DEPARTMENT OF MATHEMATICS LINEAR SYSTEMS WITH RANDOM INPUTS

The output of Power Spectral density is,
$$S_{yy}(\omega) = S_{xx}(\omega) * |H(\omega)|^2$$

Now $H(\omega) = \frac{1}{b+i\omega}$
 $H^*(\omega) = \frac{1}{b-i\omega} \Rightarrow |H(\omega)| = \frac{1}{\sqrt{b^2+\omega^2}}$
 $|H(\omega)|^2 = \frac{1}{b^2+\omega^2}$

$$S_{yy}(\omega) = \frac{2aA}{a^2 + \omega^2} \times \frac{1}{b^2 + \omega^2}$$

$$= \frac{2aA}{(a^2 + \omega^2)(b^2 + \omega^2)}$$

B). A System has an impalce lesponse $b(t) = e^{pt} u(t)$, find the power spectral density of the output y(t) corresponding the input x(t). Soln.

Caves
$$b(t) = e^{-\beta t} u(t)$$

Now $H(w) = F[b(t)] = \int_{-\infty}^{\infty} b(t) e^{-i\omega t} dt$

$$= \int_{-\infty}^{\infty} e^{-\beta t} u(t) e^{-i\omega t} dt$$

$$= \int_{-\infty}^{\infty} e^{-\beta t} e^{-i\omega t} dt ::[0,\infty] \Rightarrow u(t) = 1$$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution)



Coimbatore – 641 035 DEPARTMENT OF MATHEMATICS LINEAR SYSTEMS WITH RANDOM INPUTS

$$=\int_{e}^{\infty} e^{-\beta t} - i \cot t dt$$

$$=\int_{e}^{\infty} e^{-(\beta t + i \omega)t} dt$$

$$=\int_{e$$





:. y(x) = a, y, (t) + a& y& (t)

→ 9/t) 1/3 19/2001 Horse the Enput 20(t) and the output 4(t) x(t) as x(t-to), then the output becomes laking

y(t-to) = x[x(t-to)] Hence Y(t) is line invariant.

4. Assume a 91.p. X(t) is given as 9 pput to a system with transfer function $H(\omega)=1$ for $-\omega_0 \wedge \omega \wedge \omega_0$. If the auto correlation function of the griput poucege is No S(t), find the auto correlation function of the output p9100093. Soln.

GAVEN
$$H(\omega) = 1$$
, $-\omega_0 < \omega < \omega_0$
and $R_{xx}(T) = \frac{N_0}{2} \delta(t)$

WKT, Input of PSD PS,

$$\vartheta_{XX}(\omega) = \int_{-\infty}^{\infty} R_{XX}(\tau) e^{-i\omega\tau} d\tau$$

$$\mathcal{L}_{xx}(\omega) = \frac{N_0}{2}$$





Output of PSD:
$$Syy(\omega) = S_{XX}(\omega) |H(\omega)|^{2}$$

$$Syy(\omega) = N_{0}$$

FJ. X(t) is the Poput Voltage to a Circlet (System) and Y(t) is the output Voltage. $\{x(t)\}$ is a Stationary gardom process with $u_X = 0$ and $R_{XX}(T) = e^{-\alpha |T|}$ fond M_Y , $S_{YY}(w)$, if the power fransfer Function is $H(w) = \frac{R}{R + iLw}$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution) Coimbatore – 641 035 **DEPARTMENT OF MATHEMATICS**



LINEAR SYSTEMS WITH RANDOM INPUTS

Solon.

WHT
$$y(t) = \int b(\omega) x(t-\omega) d\omega$$
 $E[y(t)] = \int b(\omega) E[x(t-\omega)] d\omega$
 $= 0$
 $\therefore E[x(t-\omega)] = 0$

Input of PSD:

 $S_{XX}(\omega) = \int_{-\infty}^{\infty} R_{XX}(T) e^{-i\omega T} dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \sin \omega T) dT$
 $= \int_{-\infty}^{\infty} e^{-\alpha T} (\cos \omega T - i \cos \omega T) dT$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution)



Coimbatore – 641 035 DEPARTMENT OF MATHEMATICS LINEAR SYSTEMS WITH RANDOM INPUTS

$$=\frac{\alpha\alpha}{\alpha^2+\omega^2} \cdot \left[\frac{R^2}{R^2} + \omega^2\right]$$

$$=\frac{\alpha\alpha}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2}\right]$$

$$=\frac{\alpha\alpha}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2}\right]$$

$$=\frac{\alpha\alpha}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2}\right]$$

$$=\frac{\alpha\alpha}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2} + \frac{\beta}{\beta^2+\omega^2}\right]$$

$$=\frac{A}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2} + \frac{\beta}{\beta^2+\omega^2}\right]$$

$$=\frac{A}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2} + \frac{\beta^2}{\beta^2+\omega^2}\right]$$

$$=\frac{A}{\alpha^2+\omega^2} \cdot \left[\frac{\beta^2}{\beta^2+\omega^2} + \frac{\beta^2}{\beta^2+\omega^2}\right]$$

$$=\frac{1}{\beta^2-\alpha^2} \cdot \left[\frac{1}{\alpha^2+\omega^2} + \frac{\beta^2+\omega^2}{\beta^2+\omega^2}\right]$$

$$=\frac{1}{\beta^2-\alpha^2} \cdot \left[\frac{1}{\alpha^2+\omega^2} + \frac{\alpha\beta}{\beta^2+\omega^2}\right]$$





Taking Inverse ft on both \$28003,

$$f'[S_{yy}(\omega)] = \frac{\beta^2}{\beta^2 - \alpha^2} f'[\frac{\alpha}{\alpha^2 + \omega^2}] - \frac{\alpha\beta}{\beta^2 - \alpha^2} f'[\frac{\alpha\beta}{\beta^2 + \omega^2}]$$

$$R_{yy}(t) = \frac{\beta^2}{\beta^2 - \alpha^2} e^{-\alpha |T|} \frac{\alpha\beta}{\beta^2 - \alpha^2} e^{-\beta |T|}$$

$$= \frac{R^2/L^2}{L^2} e^{-\alpha |T|} \frac{\alpha}{\lambda^2} e^{-\beta |T|}$$

$$= \lambda e^{-\alpha |T|} - \lambda e^{-\beta |T|}$$

$$= \lambda e^{-\alpha |T|} - \lambda e^{-\beta |T|}$$

$$= \lambda e^{-\alpha |T|} - \lambda e^{-\beta |T|}$$

$$\lambda e^{-\alpha |T|}$$

$$\lambda e^{\alpha |T|}$$

$$\lambda e^{-\alpha |T|}$$

$$\lambda e^{-\alpha |T|}$$

$$\lambda e^{-\alpha |T|}$$

$$\lambda e$$